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B[R] 3,045 184 5 197 372 225 3,803
SRR 683 75 2 41 108 36 909
aFR8 758 76 3 59 155 69 1,051
=R 1,890 172 7 159 281 112 2,509
AR 559 50 0 14 80 18 703
LR 748 a7 0 29 115 32 939
mEE 1,795 139 5 78 293 125 2,310
KR 3,210 155 4 225 510 201 4,104
N 2,221 105 4 150 386 157 2,866
HER 2,627 132 2 139 494 175 3,394
BEE 9,767 357 14 613 2,026 721 12,777
FEE 7,085 319 22 472 1,220 596 9,118
RRED 16,485 239 54 547 2,385 1,361 19,710
fESNS 12,251 218 14 544 1,963 928 14,990
Fins 1,546 139 0] 113 290 107 2,088
2R 803 43 0 46 124 57 1,016
alllR 945 46 0 43 167 81 1,201
BHE 682 28 0 39 94 22 843
LIS 890 38 2 65 177 62 1,172
REFE 1,714 93 2 76 357 136 2,242
I RIS 2,076 125 8 73 459 141 2,741
EEIR 3,583 201 9 195 854 343 4,842
BHE 10,514 358 2 443 2,303 1,021 13,620
=ER 1,878 106 13 94 476 152 2,567
BER 1,116 51 1 48 217 71 1,433
RERRT 2,129 77 4 123 484 233 2,817
ABRAT 8,776 415 11 672 1,493 771 11,367
"ER 5017 149 2 170 966 480 6,304
ZRE 1,087 65 2 41 139 41 1,334
AL 722 49 2 42 181 69 996
SR 432 17 0] 17 72 25 538
ERE 447 24 0 13 89 20 573
A L= 1,487 107 1 83 318 126 1,996
LBE 2,195 123 9 124 557 267 3,008
Hijm[= 1,044 58 8 43 212 71 1,365
e 543 25 1 18 107 19 694
&HIIE 725 57 13 46 139 58 980
BER 779 58 0 48 233 124 1,118
=S 398 18 0] 7 82 16 505
ERR 4,401 263 4 299 841 406 5,808
EER 455 45 4 41 120 59 665
RIBE 653 36 1 18 169 56 877
HEARIR 1,059 80 0] 64 219 105 1,422
AHE 679 38 1 43 156 62 917
=IFE 717 47 1 28 154 55 947
BREE 886 57 2 57 172 67 1,174
FHEE 371 3 1 3 56 30 434
tT=4 0 0 0 0 0 0 0

a&t 123,873 5,307 240 6,502 22,865 10,109 158,787
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B[R] 2,262 126 2 135 314 188 2,839
SRR 572 34 1 20 87 23 714
aFR8 579 44 0] 37 126 52 786
=R 1,380 117 0 114 237 85 1,848
AR 431 32 0 9 68 12 540
LR 590 31 0 20 104 28 745
mEE 1,445 77 1 44 242 96 1,809
KR 2,492 97 4 153 422 147 3,168
N 1,759 71 2 103 335 128 2,270
HER 2,097 81 0 97 421 134 2,696
BEE 7,544 266 7 445 1,651 513 9,913
FEE 5,601 238 2 325 1,011 462 7,077
RRED 12,304 150 14 372 1,947 1,070 14,787
fESNS 9,825 152 6 410 1,580 719 11,973
Hino i 1,161 91 0] 72 248 82 1,572
2R 607 26 0 32 112 52 777
alllR 678 28 0 23 143 70 872
BHE 494 15 0 25 81 13 615
LLBR 725 26 0] 52 140 43 943
REFE 1,326 68 0 53 302 114 1,749
I RIS 1,680 64 1 53 410 117 2,208
EEIR 2,826 129 1 137 746 281 3,839
BHE 8,081 221 2 303 2,061 899 10,668
=ER 1,570 63 11 62 435 132 2,141
BER 924 22 0 26 181 54 1,153
RERRT 1,691 48 0 77 402 177 2,218
ABRAT 6,750 282 4 415 1,194 571 8,645
"ER 3,835 78 0 103 817 377 4,833
ZRE 855 38 2 25 112 28 1,032
AL 546 30 0 23 141 52 740
SR 344 12 0] 12 58 15 426
ERE 351 17 0 9 78 15 455
A L= 1,116 50 1 32 258 83 1,457
LBE 1,717 71 1 72 454 204 2,315
Hijm[= 813 34 1 23 185 63 1,056
e 450 10 0 12 100 19 572
&HIIE 527 37 1 28 108 45 701
BER 583 40 0 31 174 91 828
=S 312 8 0] 3 70 13 393
ERR 3,263 153 3 196 713 311 4,328
EER 355 20 0 27 103 49 505
RIBE 514 17 0 11 143 48 685
HEARIR 825 55 0] 49 187 83 1,116
AHE 528 24 O] 19 136 54 707
=IFE 628 26 0 20 132 45 806
BREE 712 41 0 41 151 57 945
FHEE 282 2 0] 3 46 26 333
tT=4 0 0 0 0 0 0 0

a&t 95,850 3,362 67 4,353 19,166 7,940 122,798




